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������ ./	 ¢!
�, ��< 
=$% B=���1


#��i�� D�� }M ���6�
< �=[,s� �,�
�� S 
E Y�� 0
[, ��i��. 

 

 �������3 

 �	
�
�1 
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�67���4�� 

�� ������� �7��� 
��6+ �$C
$��� �
7«� ¢�61�
*P���	
[�� �
"
89�� ���
 _$1��< 
� ��'*�  .T
G�� B$�� j;+
H �vM 
 D'��� BCE ?�8� ��'*�� ./	 L
�	
��� �Á��� �C �
89�� �;$�p �'*�� >� �;�;� ��< �
89�� ����� ��'- Up�+

��
+ Ç�
$� S ��+ '� 
z. 

�E �C
 ¸�7 �!��" ¢!
�6< �8�1��� �;=�t� �$C
$��� �
7«� >+ ?
7'� �^;�R L��;< S ��O�R ��<�E >� �+'=� ��) ����8��
DSCQS �q$*��
 2 ����8�� >� DSIS�,�
��� ����"
  (�'*�� �$+', :$$��� �;=���� . T
=���
< �
����� ��'� U��,E

 V^����(ML@MP) MPEG Q$^� ��m�'& �$�%s� �,
����� . �$�
�E �
���� �
�� ��<�E U;=����
)B1 HB2 HB3 HB4 (

 �
"
89� j;+ D��s�
 �;$�p �$C
$� �
"
89� j;+ 
	�AE �'�£ H���
���� �;�;� Bn� �$C
$� �
���� �
�� ���

����� .��^�� 5	 �$C
$��� �
7«�
 H���
����� e;�;� j;+ ¸�G�� �
����� �!��" U��"
 �'�£ �/�� �
����� ¢!
�, Y< 

����� �
"
89� j;+ �$�
�E ��'*< �'�£ �/�� �
����� ¢!
�,
 �;$�p �
"
89� j;+ �$�
�E ��'*< . 
"�� B=����

 L
$�
�s� �
�����B2
 B3�
$��� �
7  �$]�� . 

 ����8;� �$C
$� �
7  �'�
 0�+ j;+ ��=�� ��O�P�� ¢!
�, T�1
DSCQS ../	 >n� ����8�� S �]p�
 U,
W �
7«� 
DSIS�,�
��� ����"
  . �'6�� S ��#[% �$C
$��� �
7«� ��E 
�EII ����8�� >� DSIS . _��1 LE �$,
n�M j;+ ¢!
�6�� T�1


���� j;+E ������1 ������� �
"
89�� �6=$	 _��1 
=6$< ��'*;� ���� BCE ������1 �;$�@�� �
"
89�� �6=$	. 

�, 5A'1
 ����8�� L�< ¸']��� ¢!
DSCQS ������� �
$;=+ S �A ��<E }M �
$��� �
7  \$;��� B@%s� ����8�� 5	 
���
*P���'������ ��
*1�� �
8C 
g 5-'� e�� ��'*�� �$+'6� . 

 S ?
^,  ��'W/�� ¸']��� T'A �
�';��� >� ��3� ���
 �������ITU-R BT.1082. 
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 �����2 

���	
�� �
���������  

1 ������ 

�� X�
���� i
67E S �
$8��� >� �V�W �$=W x=w$,
*P��'�3^;1 0
[, i��E ������ � . Bn� j;+ 0��1 �
$8��� ./	

 Bn�< ¢!
�6�� BG� �$� �$!
*AM �
$6�1 �8��'< 
#^$Gn1 :�� LE _�
 �
��n�l� 
#�%
n� 
E >��	
��� �
��+ �
���



 �
$</ \P;� 
E�
����� ��p
b� �=[,s� i��E. 

 3%
4� 5!
67 �
89�� :;� ¢!
�, j;+ I
��� B$;]��� ��8�
(DSIS) 3%
4� 5!
67 ��=���� �$+'6�� :;�
 (DSCQ) e���8� 
 �$,'�3^;��� ��'*�� �$+', ����1)����^�� 4
 5
 6 �];�� >� 1 .( 5�
d :;� j;+ H}
s� ��
4� S H�
89�� �m'�


� ¢!
�6�� �³$��1
 �=���� ������� :;� �$,
G�� ��
4� S B=���� 
=6$< �
����) ��'*��
 �$����� ��'*�� ������1 Y< ��^��
�
����� ��p
b� �$�
4� ( Y< o
���1 �]$]- :$C �6+0
 100. 

2 �2#�8�� ��
	��� ���#$ 

�'W/�� Y����8�� Ã�
�� ?
�%
 ���t� ���
����� ���1 �];�� S Y11 Y< o
���1 �]$]- :$�� x�m'1 }M 1
 5 Y< 
E 0
 100 .
�
�<
��� 
E �'- ��+ T
=���� B$�C >� H�<����� �
�� Q;�R V7�1
 >��	
��� 0
nAE Y< >�
���� x�m'��� �/	 >=@��
. 

 �
���� >� ?���+ �
����� >=@��
L . S �
����� �
�� >� ?���+ H��+ BW BG�
jH�
�<
�1 >� �A�
 x<
�1 j;+ ���8�� / �'-
 �
�����K .�
�<
�1 S �;$n�1 BW ��n1 �C H��
4� f�< S
/ H���� ��+ �
����� �
�� x� �
����� �'-R. 

1.2 ������� �	
��
� �	�� 

 H�8�'��� ������ X
�A S ¢!
�6�� B$;]�� }
s� �'8b� >=n1jkruA Bn� H�
���� ��
: 

 ∑
=

=
N

i
ijkru

N
jkru

1

1
 (1) 

�$A: 

 uijkr:  �	
��� ���+i S �
����� ���� �
8��� jx<
����
 H/ ��'*��kH ����� S r 

 N: >��	
��� ��+. 

 �
����� ��'�� I
KM X
�A >n� �;7
z ����8<
ju
 ku �
���� ��� Bn� Hx<
�1 BW
/�
���� ��'-. 

2.2  �	����	����
�  

1.2.2  <�^� B�*����� �X���)! `���> ����K a� b/c L I��/=���> !3( 

 �6$+ Bn� ��
$��� r��9�� >� ���� ��7 B-
% �8�'��� �
����� x$=h L'n� LE 5q�6� 
� �
���� ¢!
�, ²��1 �6+

#=�A
. 
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 >� ��7 ���% T
=���� o����%95��
���� 
#$8�1 : 

  

[ ]jkrjkrjkrjkr u,u δδ +−
 

�$A 

 

N

Sjkr
jkr 96.1=δ

 (2) 

 58=6�� r��9�� _�£Sjkr�$�
��� ��
���� �8��'< H: 

 ∑
= −

−
=

N

i

ijkrjkr
jkr

N

uu
S

1

2

)1(

)(
 (3) 

 T
=�A�� ���, U,
W �vM%95 �8�'��� ������
 �<����� S �8�'��� ������ H��^;� ��;8�� �=$��� L'n1 H"�$�$�4�")  ����
>��	
��� >� ?��� V�W ( >� �q-E%95�
�;8��� f��� ����^�� �
����� x�m'1 _$���� LE �8��� H��G�� ���% >� . 

 ��
$��� r��9�� X
�A >n� �;7
z ����8<
Sj�
���� ��� Bn� H . L'n1 
��6+ H�7��� ��
$��� r��9�� �/	 LE ¦A�� >n�
�
�<
�1/���� �'-������� S YW�
��� Y�C���� Y< �
�^�
< .�7�1 >� �GWE �;=����� �
����� �
�<
�1 Y< �
�^�
< H�;$;C �
�. 

2.2.2 ! `���> ������ f�/5 I�� B�*����� �X���/=���> !3 

�
"
89�� �
7  U�@� e�� �
,
$��
< �;��� 
=$%/% ������� :;� �
�A �
7  
E �$����� �
6$�]��� 
E f�'�1 �
$;=�� 
#$
 H_������ ��< �
"
89�� �%
pM ��+
C 
E �
"
89�� j;+ �
�� Bn� j;+ ������ �
,
$��
< �;��� 
=$%) �
�1�� _��<

�
	'���� ./g X�
���� >+ �w
6�� �$+'6�� �
��+ ��'�� ( ��Vq�� ��']�� T
=���
< ��G�� B-
% X
�A 5q�6�
C U��1 �
+��� x� �$!
*AM��Vq��� ./	 :$. 

 
� �
89� j;+ B�% �
�� Bn� j;+ �$+'6�� ����1 ¢!
�, Up�+ �vM
)���w ª]6� �E 5 ( ·�s�
 j;+s� ��G�� ��A L'n�
�$���w �=$C BW ���� 
| ��G�� B-
^� .����1 :$$�1 x� ��
$��� r��9�� X
�A 5q�6� >��4� >�/	 X
�A B�E >�
  5

$C BW u�v
 §"
�1���
89�� j;+ I'�� B�^�� �� >� �$���w �=. 

3.2 ����	��� �	���� 

1.3.2  S����@�� 4������� .���5�DSIS! DSCQS ����@�� 8�%g�+�C ������� 9:��@��! SSCQE 

 �
����� �8��'< ��
+ Vy 
E ��
+ �#�� Bn� �
����� x�m'1 LE >� �W���� _� H?�
Eβ2)  B�
�� X
�A T�� >�
kurtosis�$,
G�� ��1��� >� 03��� x$<�1 }M ��<���� ��1��� >� 03��� ���, �E H������ S  .( U,
W �vM
β2 Y< 2
 4 >n=$% H

?
��
+ x�m'��� �
��+� . �
����� L�
�1 LE 
	�6+ _�
uijkr �8�'��� �=$��� x� _C��� Bn� jkru r��9�� ?��!�m ��A
*�� 
 58=6��< X
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+ (< 
E 20) ��
+ Vy( HPjkr r��9�� ?
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 H

 S ?
<
�@� §�^, 58=6��2 S 
E  20 HQjkr . j;+ B��1 LE HD��� �/	 `�
� �	
��� ���+ L'n1 ��� BW S H_�

Bn� _A
*� ���+�	
��  . �'% :$�;� L�*^6� L����+ B=����
(Pjkr) UJ
 (Qjkr) . L
���6�� _�J LE _� H?�V�E


Pi + Qi
 H�;�
n�� ��
��� i
67E S �	
�� Bn� I
Kl� �
����� ��+ }M Pi – Qi }M Pi + Qi��;8�� �=$��
< 
#6+ ?�O��  .
 >� OWE }
s� ���6�� U,
W �v�%%5s� ���6��
  >� BCE �V�%30 H�	
��� ������ LE _� H)�[,� �[A��� 1.( 
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 ��	
��1 ��6$�� �<�w ¢!
�, j;+ ��A�
 ��� >� �GWE i���l� �/	 ��8� �  . T
=���� �*]6� LE Hu�v }M �%
pM H_�

 >��	
��� >� ?
$��, B$;C ��+ 
#$% ��'� e�� ��
4� S i���l�) >� BCE20?�G� H(K H5-
*��� Vy :#�$. 

 ����8� i���l� �/g j-'�EBU (DSIS) ����8�� S §���P��� ?
@�E �È �C
 NDSCQS�;����� �!��8�� S
 . 

I
��� ']6�� j;+ ?
^,  �'W/�� i���l� >+ ?
$p
�� V����� >n�
: 

 ��'��� �
���� ��+ Bn� _�£jkru ��
$��� r��9�� HSjkrH  B�
��
kurtosisH β2jkr  �=$��� 58q� �$Aβ2jkr 

�$�
��� ���
��
<: 

 

2
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4
2

)(m

m

jkr =β    x�      
N

uu

m

N

i

x
ijkrijkr

x

∑
== 1

)–(

 (4) 

 H�	
�� Bn� _�J
i L
�=$��� HPi
 QiH�E : 

 }M ���6�
<j Hk Hr = 1 H1 H1 }M J HK HR 

 �vM2 ≥ β2jkr ≥ 4L'n� H: 

 �vM jkrjkrijkr Suu 2+≥
  L'n�Pi = Pi + 1 

 �vMjkrjkrijkr Suu 2–≤
  L'n�Qi = Qi + 1 

 u�v Vy: 

 �vM jkrjkrijkr Suu 20+≥  L'n� Pi = Pi + 1 

 �vM jkrjkrijkr Suu 20–≤  L'n� Qi = Qi + 1 

L
W �v�% >  0.05
RKJ

QP ii

⋅⋅
+
  < 0.3

ii

ii

QP

QP

+
−��� f%� :�� LvM H _C�i. 

�$A: 

 N: Y�C���� ��+ 

 J: x���� u�v S 
& �
����� �
�� ��+ 

 K: �
����� �
�<
�1 
E �'- ��+ 

 R: ���n��� ���� ��+ 

 L:  �
����� �
�+ ��+) ?
�

�� �
���� ��+ L'n� ��
4� :[�� SJ · K · R LE ¦A�� >n� H
>� ��

��� Vy ���+E }M 5@^1 �C ��������� f�<�
���� ��� Bn� �
�<
���� .( 

2.3.2  ������� �	
��
�SSCQE 

 �
����� i���M L';=���� >�/�� >��	
�=;� ¨
b� �
$���
< �;��� 
=$%SSCQE ��$n�1 >� ?��A�
 �$�8��� T
� ��� � H
 �
�����)�
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�1 x� �
���� ��� xK ( �$6�m �/%
, >n�) §�'" ����1 x8�� T
G�10L�'7  (�
���� �;$n�1 >� . u�
6	


 H0
��� j]6�� }M ?���, :������1 S ?����� ?
C�% L
�#[� >�/�� Y�C���� �
�����
 Q�n� �$��1 }
s� HY�;A�& �$��1
�$�#6� �
�% �E �
+��� L
� �
�1� 0�+ L
�#[� >�/�� Y�C���� �
$���
 Q�W B�E >� �$,
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 ������1 :������ _;C Q�W5;t� � 

 �
���� �;$n�1 Bn� �$6�m �/%
, Bn< �-
b� �
����� ./	 x�m'1 L
W �vM 
z ?�
E ��]��� _� ?
@�E 
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��
+ " 0E
�  �
����� T
=���
< u�v
β2 . �=$��� UA
��1 �vM
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��
+ x�m'��� �
��+� >n� H . j;+ ¿/!�6+ i���l� ��8�


 BW$n�1 Bn� >�m �/%
,?
�A� ����'�� �$p
���� ���
�=;� ?
�%
 �
���� �;. 

 ��������� T
=���
<
 �
���� �;$n�1 Bn� >�m �/%
, Bn� _�£
uijkr H��'��� H�	
�� Bn� jklru ��
$��� r��9��
 H
Sjklr B�
���
 Hβ2jklr . �=$��� j8�1
β2jklr���
��� S : 

2
2
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2

)(
β

m

m
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N

uu

m

N

n

x
njklr

x

∑
=

−
= 1

)(

  

 _C��� Bn� _�J
i L
�=$��� HPi
 QiT
G� H: 

 }M ���6�
<j HkH l �r = 1 H1 H1 H1 }M J HK HL HR 

 �vM2 ≥ β2jklr ≥ 4L'n� H: 

 vMjklrjklrnjklr Suu 2+≥
  L'n� Pi = Pi + 1 

 vM jklrjklrnjklr Suu 2+≤
  L'n� Qi = Qi + 1 

 u�v Vy: 

 �vM jklrjklrnjklr Suu 20+≥  L'n� Pi = Pi + 1 

 �vM jklrjklrnjklr Suu 20–≤  L'n� Qi = Qi + 1 

 L
W �vM > X%
RLKJ

Pi

⋅⋅⋅
 
E  > X%

RLKJ

Qi

⋅⋅⋅
 _C���� f%� :�� LvM Hi. 

�$A: 

 N : Y�C���� ��+ 

 J:  x$=w x� >�3�� /%�', ��+§�<
�1
 �
����� ��� 

 K: �
����� �
�� ��+ 

 L: �
�<
���� ��+ 

 R: ���n��� ���� ��+. 

�
����� ��'�� x� Q�
P��� ����� ������1 �'��C >�/�� Y�C���� �
����� �$;=��� ./	 �$�1
 . Bn��� Y��
17 Y�
G� 
)������ Q�
P��� S�8� L
$,
$< �
$6]6� .(/	 �
������ �
$�� >n� Bn�1 e�� �;=�t� _;��� �
$;=+ Q�W �$�� � �

>�
��;� ?
�
	 ?���*� .�$,
G�� �$;=��� �;A�� o���1 _���� �/�
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 ������2 :?
$;� ������� _;C Q�W 

 �;A��� S2 �];�� S ��1 �q$- �
$��� j;+ ?
@�E Q�n�� �6��� 2�$-'��� ./	 >�  . �;��� Q$^" B���1 
#$% r
@1
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�&�$�8��� . >�3�� /%�', x$K �
��+ >� ?
@�E �;����� �
,
$��� �+'=� L'n�1
) T
G�10L�'7  ( ��$n�1 x$=h
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������� . �	
� �
� �� ����� ������ ��� ��	���� ���!� �!�� "#$ %��&��� �'�� ()�!�� * +�,- /�� 0#�� �1����� !2
 (	)3��� 4)3���� �56 (	)3��� �� 7-8�(19����. 

 ������ ()	':; �'� (	<�= �#6�> �'� �#$ %��&�� ?1=�; @�� �AB �C ��-� /5D��� EF-"��19�," ������� ��3����H � �� Iβ2 JH 
2- 4�19�, ?1=���� K�,� I .��5�� �9����� (	L�1!�� (�9���� /6- ������ ()	':; �'� (	<�= �#6�> �'� M�!
N� �3��O1 P#��<,-. 

�-EQ�!� �'�- (	<�= �#6�> �'� ������ %��&��� R�O� S$ (	)3��� �� 7-8� ()�!� . I(�&��� ����� 9�D�1-klru I
T���� �D<�� U), ������� %&	':; �� �'�: 

 ∑ ∑
= =

⋅=
N

n

J

j

njklrklr u
JN

u

1 1

11
 

 EQ�!� ��- ������� %&	':; �� �� (�&, ����� 9�D�1 ()2�C (51!WH-T���� �D<�� U),: 

 ∑
=

=
J

j

njklrnklr u
J

u

1

1
 

 (3	5�� �9��;-unjklr ������ ���	 i (	<�= �#6�<� j ������ X!Y- Ik ?H��;- Il %�!� 9�,- Ir. 

 (W����� %��&��� EOZ-u*njklrT���� �D<�� U), EQ�!� �'� : 

 klrnklrnjklrnjklr uuuu +−=*
 

������ ()	':; �'� (	<�= �#6�> �'� EOZ- ������ jklru * I0��	��� [�!\��- c S *jklr ������- β2∗jklr . EOZ-
 (3	5��β2∗

jklr(�9���� * : 

2
2

4
*
2

)(m

m

jklr =β     ?�     
N

u

m

N

n

x
njklr

x

∑
== 1

* )(

 

 @��3	5�� EOZ-i IP*I -Q*iT����� EQ�!� �'� I: 

 7B (�O<��Hj IkI l 
r = 1 I1 I1 I17B  J IK IL IR 

 �AB2 ≥ β2*jklr ≥ 4@�'1 I: 

 �AB jklrjklrnjklr Suu *2** +≥  @�'1 P*i = P*i + 1 

 �AB jklrjklrnjklr Suu *2** –≤  @�'1 Q*i = Q*i + 1 

]�A ^_ 

 �AB jklrjklrnjklr Suu *20** +≥  @�'1 P*i = P*i + 1 

 �AB jklrjklrnjklr Suu *20–** ≤  @�'1 Q*i = Q*i + 1 
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@�� �AB   > Y
RLKJ

QP ii

⋅⋅⋅
+ ** -  < Z

ii

ii

QP

QP

**

**

+
− EQ�!�� `6� a�1 @AB Ii. 

b	�: 

 N : J�Q�!�� 9�, 

 J: c�H��;- ������� X!Y ?	3d ?� ����� #6��> 9�, 

 K: ������� X-!Y 9�, 

 L: %��H����� 9�, 

 R: ��!'��� %�!� 9�,. 

 %�3)�3)� (�!�5�� a	5�� ���)X -Y- Z (!g��� ��H Sh6 (51!W�� "#$ ?� (
	'��- (H0,2 I0,1 I0,3. 

3 ������ ���	� 
����
� ������� ����	
� ������ �� ���� ���	� ���� !�� ��"���� 

�� %�������� M�!
B �<,	>�ij: (51!W�� (W���H (DSI �����- "�:�)� S,�L��� k�	5�� JH (Q&��� (���9 [�l 
 %��&���) EOZu �!5
�� * 9!1 �� ��56- 1.2 ( JH (W	OH �!3�O� (Q&, J	�; * �3'; m�� (	����� (	)3��� ��3���� �'n

uX�W\�� (3)��- . 

1.3 ������� �	
��� �	
��� ���� ������ ���
��� 

 (	5W<� (��9 (W���H (	�1!g��� (Q&��� "#$ E1!5; @� -��1(o�� (	p� c� (	L�1�. 

 %�	W��� (q��� �'nuT���� �D<�� U), : 

 a	5�� a)� rs	51u !3�O� ^t�� 7B (�O<��H pb	u : 

(5) p  =  (u   –  umin) / (umax  –  umin)  

b	�: 

 umin: ; a)� * (���� (�&, v9� !1�5u(	,�> ���8  

 umax:  !1�5; a)� * (���� (�&, v9�u(	,�> �w68 . 

 JH (Q&�)� x�	��� �	y3��� !hz1-p- D [!u c	�Y �'Y 7B �	n {D<�� @� S 9-�|� ��} @� (W1!Y 0��!� !~�<�H 
 a	5� (	�	�W��D (3	Q �h	6 ^t�; m�� (5W<�� �, ���	�H u���1!� ��^t; . 

'n-(����� E1!5; @�� �: p = f (D)(	����� (Q&���H �h<, K�1- I��3	'� �$��	��� @�'1 (	L�1� (	5W<� (��9 (W���H : 

 p  =  1 / [1 + exp ( D – DM ) G ] (6) 

 b	�DM- G(���� -� (�
�� (3	Q . 

 (3	5�� �3��O;p^6�; �
� �� U)y�� (	L�1!�� (	5W<�� E1!5��� (��9 �� (i)j�O��  (	3Q� (3	Q I(Q&�)� ��56- (5�:� : 

 I  =  (1/p  –  1) (7) 
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 J�3	5�� ��5�Y� �'n-DM- GT���� �1�D��� ��H (	�1!g��� %�	W��� �� : 

 I  =  exp ( D – DM ) G (8) 

 a	5� S3�1��_�� a)� ��3���� 09�1-I(	W� (Q&, 7B : 

 loge I  =  ( D – DM ) G (9) 

���� ��3'���� ��i1 X�W\&� �&yC a	5�O�� ��� K��1 S'� (	6�� (Q9 @�	�8� `�H * c�- I��W	OH a	5�O� �� S)�
 cO	5; 0#�� ^2���� 7B ������D. 

(	����� (�9���� (W���H (	o��� �	� �, P#��<, K�1-: 

 

GI

DD
S

M 1

log
e

=−= (10) 

 (3	Q SW�; m��GU)y��  .DM (3	Q S$ D �
� �� 1 = I. 

{��� ���� X�W\&� (���i�� X�W\�� (	o�� �, a	5�O�� ��� K�1 @� �'n . �1!�; �'3�� �� @� 7B ���YN� ��d-
 J�3	5�� (W���H a	5�O�� ���DM- G(	L�1!�� (	5W<�� (���)� J;�	3�� . 

2.3 ������� � ���� ������ ���
��� 

1.2.3 ������ 	�
 

Q&��� E1!5; @B (D
�> (	)3, (	L�1� (1!~�<; (��9 ��3����H ���i�� "�:�� S,�L��� k�	5��- ������� %��&, JH (
*  "�:��� (3)�� k�	Q �� �'3��� (��� * @�	|� az��D (�O<�� �y� ()o %�A ���- * (dB) S/N . (3)�� 4O	Q �AB-

 (19�� ���- * "�:���d ()h�� �y� I(ms) ?L- �9�,B J��1 I (Q&���(8) (�9���� ��3����H: 

 I  =  ( d / dM )1/G
 (11) 

 (�9���� ��i; T����H-(6): 

 

[ ]G/1)/(11 Mddp += (12) 

(1!~�<; � (51!WH (	5W<�� (����� E1!5; (����� "#$ @�Y ��-. 

2.2.3 ��
���� ������ 
���� 

 !6�; m�� (���)� U)y�� %�3)��� !1�5; U), ��i|� �'n (1� (W���H I(�����- (	)�
�� %�	W��� JH (	5���� M�W�8� v9�
0��!'; !1�5; (	�=���� . �':�� J�116 %�	W�� �	y} �
� �� (1!~�<; � (��9 ��3���� �, ���y� 	>�ijY(	)�6 ( .

 (3	Q �H�5; (	,�L�� %���	Q !1�5�H �	y3��� �#$ �3O1-	>�ijY(3h� ( :4,5� a)O�� U), �&y� %�
���� S��. 



�������  ITU-R  BT.500-13 

 

40

:��� �'16 

������ � �	�
� 

 

 

3.3 ������ �	���/���
��� ��� �!�" ��#$! %
&�'� ()���� 

E1!5���- E1!g��� %�>�	H JH �-!
�� `�H 09�
; ��>�	�� (	L�1!�� (	5W<�� (����� ��3���� �'n � I��	)3, . �#$ ag<1 �Q-
 �, �1����� S��i�N� �A�3<�� U), !2�; @� ���Y �� ������� * ��, %���W\� ������ 9�
- -� !1�5��� a)� ��2� (1��

(	5W<�� (1!z<�� (����� "�:;-. 

<1 !1�5��� a)� %�1�� !2� ���>� �� ��> ��<$-  %���)�� (o��- a)O)� ��i5�� a	5�� ��3���� ��, "�<, @��Q�!�� ��
�
;!�� (	,�<��( .(6!W�� ��'�� �&�B �, SO
<�� ��g�N� �h	6 �� ����, ��, �, ]�A ��<1 �Q- . �Q ]�A U), �-&,-

 (�9��3)� ��56- ��'��� ��O|� ������ ��3���� E�O1(1) ?1=���� E�OH (���� ����> U), ��i|� a)O�� %�1�� R!Q 
/��<�� "#$ * %�!1�5�)� S��t�� ^_. 

* 9!1 �� �����_- /��� X�W\� %�������� ) (3	5�� %��&��� ����� ��� �)�1 � (	�
!�� ���i�� * ��
max
uu <0.( 

 ��2� �	Di; �':1-"9-�|� "%�>�	��� (q��� �� (	p8� ���H ��M�
 E1!g��� %�>�	H * %�
- @B . ��	��� St�<1 �#�
(t��H (Q�H M�!
N� .�� %�M�!
B @� ��&1-���3���� �<, (W	|� ������H �i<1 �#� I(o�� %�L�!�6� aw; "#$ �	Di� .

����<�� ��5; ��� ���3���� �	gO; St�<1-. 

BT.0500-16

0
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2

3
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p
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d
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q�� �-�5 


������ ��� �
�� ���� ����� !"�
# �$���� 

���
 �� �	����� ����� 

���� ��� �	�
��� 

�!����� 

 ������ ��	� 
� �
����� 

 ������ 
� �
�����
������ 

������� ��� ��� � ����

�
����� ��� ! ! ! 

����� ��" #
�$ ��% &�'�( ��	� )�*
 �+ ! 

����� ��" ! #
�$(1)
 ��% ��% ! 

,��-��� ./�01 2�� .34�+ .�
56 ��% ! ��% 

.
57�*8 .�
56 ��% ! ��% 

(1)
 ��"9�� #
����� &��/� .��:�� ,�5
����� ;��- ���
<���� ��=�� 2�� ����� : 

midmidcorr
uuuCu +−= )( 

mid

midmin

mid

midmax

uu

uu

uu

uu

uu

uu

uu

uu

C

minminmax

max

maxminmax

min

−

−

−

−
+

−

−

−

−
=

000

0

000

0

 

���: 

 ucorr: ����� ���	 

 u: ����� 
� ���
�� ���	 

 umin �umax: �
����� ��� ���� 

 umid: �
����� ��� ����� 

 u0 min �u0 max: � ������� !��" #�	$�� %�$� &��'����
�(��. 

 

4.3 �������� �	
��� � �
������� ���� ����� 

 �<, (5y�� %�!�6- �����&� ?L�� X�W\� �'� (W����� %�
���� �� ��Q&W>� %�
���� �� ��&� �&2 ��;%95: 

�  �	>��� %�
���� ()O)�) (W���� a	Q�(5y�� %�!�6 (� 

� �(W����� %�
���� ()O)� 

� i5�� %�
���� ()O)� ��) (W���� a	Q +(5y�� %�!�6.( 

�&5�O� ��!1�5; �&y�� ��&O)� !1�5��� %�3)�� ��5; � .cO
> x�	��� a�!�� U), �&y�� ��-��� a�!; @� �$�<, �'n- .
�o����� ���H (W����� %�
���� (��9- (W5<�� X�W��H �	>���- ��i5�� J�)O)O�� ����9 a�!; .��� a	5�� ��w1� J�;- (	�1!g

 x�	��� a�!�� �#$ U),)!z>� �':�� 17 .( �<, �!3�O�� (5y�� (5W<� !1�5; U), ]�#H �i\-%95. 

 (
��)� � �� �!5; @� �'n4,5) (51!W��H (o��� (1�!�� (��, ( (5y�� �!�6 Ix�	��� a�!�� U), �!Y��� �M�!Q%95 m��- ���5�� 
cH  �3O� ��� �1�D�� �3��O; @� �'n. 

� �!�6 r	� �	>��� a	5�� {D<�- ��i5�� a	5�� {D<� JH �	|%95c� ��W���� ��!1�5; �H . 
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 ?5; @� EF%95 @� -� ������� M�!
B * ()':� (¡ @� ��<�O1 �Q �B- I(5y�� (5W<� ���9 (	�1!g��� a	5�� �� �Q8� U), 
�y�8� �A�3<�� �'1 ¢ ���j�� (����� �A�£. 

:��� �'17 

����������	 
 ���
� �����  

 

4 ���������� 

�� !1�5��� %������� �� (,�3¤ (Q9 0� (5y�� %�!�6 !1�5�� M�!
B �o- �5�x�ij:. 

 (55¥� ��w1� �!�8� R��g�)� �H IEOD6 (<	��� (H!g�)� (3h� 4O	� (W���� (��, %�	3� !1�5; 7B ��w1� M�!
N� 09�1
(	gh<�� r
> (W���H. 

�� %�!1�5�)� ��	
�� (5y�� �!�6 ��)� %�WW¦ a�!� %�	3'�� "#$ �3��O; @� �'n �#�-	>�ij: R��g��� �	Wj��- I(
]�#� (	)�5�O��. 

0

1

2

3

4

5

d

p(d): ��)*��� +�,��
q(d): ��)*��� %�- 

r(d): ��)*��� #�	- 

d: /�����0�12�� 3	,4,5�

p(d) 

q(d) 

r(d) 

0500-17
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 �����3 

������ 	
���
 ����� ��� ��� 

j�� JH %�>�	��� �9��; �	hO; �$ %�
)�� �9���� �!�:� /O> ?L- �� §!t�� @B (	�-9 %&¨ * ��	,�© ���:; m�� %�K�
�� a		5�)�x�ij:. 

 !1�5; �� ��1-x�ijYS$ (WH�!��- (�Q���� ���!� r3� ����;  : I%�>�	��� (q���- I������� M�!
B- ������� 9��,B
�$^O
;- ����<�� ��5;- .%�K�j�� �)�¦ U), (������ (	�-��� %&3|� * �9�, �3��� �=��1-(���:�� : 

�  E
���� (	,�<�� %�3)�� �1�Z �&� �� �!�� [�!�� ?� @-�����H ������� 9��,B (	�-�O� %�K�j�� ��� 7��1
 ���3���� E
���� 9����- �$!1�5;)9�!6B @-9 �'�- ����3, (
!� ( ������� ���B-) ��$�:�� (6�O�- (51!W���

������� 9�<H §!, ?H��;- (O)q� E	;!;-�&y�  ( ������� (�	H-)(��5�� (3)�- ��$�:�� X-!Y �y�.( 

�  %�3)�� �y} m�� (3�&�� %�	<5�)� ��56- (q��3)� (�L��� ������� �9�� ^6��H (���:�� %�K�j�� �� E)Wª1
 �$!1�5; E
���� (	,�<��)(19��� %��	hg��� -� ����¥� 7B ��9�<���.( 

�  !�� [!� 9�
- ��)1������� �1!Y ?� ������� c�
�- �� @�'1. 

� 9��,B /�� 0#�� �1!:�� ��3����H (
)�¦ (���:� %�K�¦ ������� 0!d .�		} @-9 ������� M�!
B �'n- .
*-  %�3)�� (6!�� 7B (
�|� @-9 �1�$�:�� %�!1�5; ?© �&� �� ������� M�!
«H K�j�� ��51 (��|� "#$

��� (	,�<��a		5�)� (�L. 

�  �'n (	)3, S$- ����<�� ���oB- (d�<�� ���� %�>�	��� ?© (	)3, /O<1 @� ���:� !�� K�¦ 7B �9�, E)W1
��w1� �!5�O� ���iH �$=�¬B. 

� ��^��I­<�� �� ����<�� !O
; /S��h<�� !1!5��� ��i1- x�	��� �	y3��� �� -� �-�q�. 

��<�� ?©  !�5�� /O<�� �	�1-������� 9��,B ()�!� * �9�¥� ������� %�M�!
B /6- �h	), ��i|� ¯ m�� ��. 

 (	o���� * �9����� a		5��� /��!W� /O<�� �y�n-ITU-R BT.500. 

 J�-�q� * �h3	z<; !hz1 ��i> %�
)� �� ����;-6- 7 (,�3¤ 7B �(6�LB �19�	�- ���- ��� �h�	�!; �,��Q ��;- I
 �� �9-�° (o��� =��!��) �y�"]"- "["- " "- "↵"- "=".( 

 (,�W���� b	� �� 9-�� 0� ��<$ r	�) -� (	,�<�� %�3)��- %�������� %��H��;- J�Q�!��- (���:�� %�K�j�� 9�, �y�
09-�|� !1�5��� �£ -� !1�5��� a)� 9-��.( 



�������  ITU-R  BT.500-13 

 

44

q�� �-�6 

�	
� ��
 ����
 ���� 

�����  ������ ��� ���������� 

]�6��� 7���[ 

 ��8,��� 9 ���;�65� ��
�1�� 7���ITU-R BT.500 

��6�<� ��	(1)��*���=� �>�? @A,
 B��  

 �
����� ��� �
��C)��)� &E ��
�1�� ����1�� �FG�( 

 

 I�1��� +J� K,L)�8,���M( 

[Test framework] ↵ 

Type = "DSCQS" or "DSIS I", "DSIS II", etc.↵ 

Number of sessions = 1 ≤ integer ≤ x↵ 

Scale minimum = integer↵ 

Scale maximum = integer↵ 

Monitor size = integer↵ 

Monitor make and model = chain of characters↵ 

]�6��� 7���[ 

NO����� ��P�� ��	(1)�>�? �F�
 B��  

 ��5� ���Full.DAT)  K��<� �FG�7 (*�65� Q�? �R 

 

�� ���K����5� NO����� � 

*���="� S�)- IT�� U�;5� �
��C 

V�W��5� ��	 X�YE 

 ��5� 9 �)*�� ���
*���� 9 ��Z\� ���
����� ^G�_ �`E �� #�	 K�
DATa?�5�  

[RESULTS] ↵ 

Number of results = 1 ≤ integer ≤  y↵ 

Result(j).Filename(s) = character string.DAT↵ 

.... 

Result(j).Name = character string↵ 

Result(j).Laboratory = character string↵ 

Result(j).Number of observers = 1 ≤ integer  ≤  N↵ 

Result(j).Training = "Yes" or "No" ↵ 

]��� 7����6[ 

]bW��5� �
��C[ 

 

I*��= 

I*��= 

 ��6�O* �
����W� ��	�Z�)� ��A)K�c� :d�L �K�Z	( 

 �e�f�� @�PC*� �g�h�f5� �?�6�(3 H, 4 H, 6 H) 

 [Result(j).Session(i).Observers] ↵ 

O(k).First Name = character string↵ 

O(k).Last Name = character string↵ 

O(k).Sex = "F" or "M" ↵ 

O(k).Age = integer↵ 

O(k). Occupation =  character string↵ 

O(k).Distance = integer↵ 

(1)
 �6�<� :*���=�� S,���� g�5� K,1� g��i� 0��f��M ������ j)- k� ��6�<� k� ��	 lE *���="� ��6�C kmn . V�W��5 �- V�W��5� oP�� kmn�

 ��6�) 9 �,_*�f
 &- VP��p�P��p *���=� �,�M �
��C �q�= �>�� b�1
 �P��p . �	,Zr ��6�<� ���p k� ��Z\� ���
����� N�� 31�
�
 NO����� k� ����_) s����� ��	 ×s�	 jm� ���
����� ��	( ��P�� 9 NO����� t�?*E kmn� �DAT*���=� j_ ��	 �q��*E kmn . 

q�� �-�7 

�	� ��
 ������� ���
 DAT	� ���� ��
��� 

�����  !��� ��"� ���Filename.DAT  

 u�J� ��G����� ��� ��v�
DATj8�? �>��M j�P
 �
����� ��W k�  . K�Z���� 3w��

bW��� jm� ���� �1� 

K,=��� b�C�C a?� u�J� ��G����� j(6xC 

 ��P�� #�	 ��G����� y
A,C kmnDAT K��<� 9 �h��z �P��p 6 �Z��5� 
(1)Result(j). Filename(s). 

integer integer integer.......↵ 
integer integer integer.......↵ 

integer integer integer.......↵ 

..... 

(1)
  �FG�(1) K��<� 9 6. 

__________ 
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